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SYLLABUS

Section-1:

Section-2:

Section-3:

Marks per Ques. i 1 1

Word power {Synonyms-Antonyms, Meanings in One line, Analogy, 1 word subs, Spelling, Homophones, Homonyms,
Homograms and Anagrams), Clauses, Infinitive, Participle and Gerund, Modal and auxillary verbs, Tenses (All),

Types of sentence (Simple, compound and Complex), Transformation of sentences (All), Figures of Speech, Grammar
exercise (Facts, Opinions, Proverbs, Articles, Preposition, Sentence formation-sequencing, punctuation, Nouns,
pronouns and determiners), Composition (Notices and Messages), Sequencing (Stories and Events), Comprehension
(Prose & Poetry), Forms of Expression, Idioms and Phrases

High Order Thinking Question - Syllabus as per Section 1

Series Completion and Alphabet Number, Analogy, Coding and Decoding, Blood Relations, Direction Sense, Logical Venn Diagrams,
Puzzle, Mathematical Operations, Analytical Reasoning, Mirror and Water Images, Embedded Figures and Figure Formation,
Figure Matrix, Ranking

English
Replace the italicized part with the correct option.
If you come across me keys, brings it to me, can you ?
a. willyou ?
b. don’t you
c.isn’tit?
d. No improvement

Find the synonym
SEDENTARY
a. Material b. Mischief d. Sluggish

High Order Thinking Section

Rearrange the following five sentence/ group of sentences (1), (2), (3), (4) and (5) in the proper sequence to form a
meaningful paragraph; then answer the question given below them.

(1) “My horns are my weapons,” said the deer. “I'm sharpening them.”

(2) Frightened by the deer’s sharpened horns, he turned to the fox instead and shot him dead.

(3) The fox wondered why the deer was wasting time sharpening his weapons when there was no danger in sight.
(4) A wild deer was rubbing his horns against a tree. A fox passing by asked him what he was doing.

(5) Just then a hunter appeared at the scene.

Which of the following should be the FOURTH sentence after the arrangment ?

a.5 b.4 c.3 d.2

Logical Reasoning

IfY=26and EYE

= 38, then what is EVEN equal to?
a.43 b. 50

c. 59 d. 68

Find the number of triangles in the given figure.
a. 28
b.31
c.25

d.35 <




